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"Ql}

c) T
Q2

o -
' Q3)
a)

c)
Q4)

c)
Q5)

a)

‘c)

Numerical Ability .
Find a° number which is
divisible by 15, 18 and 25 and

is a perfect square:-
225 b) 450
. 900 g) 3600

The least number, which
when divided by 2, 8,4, 5and 6

leaves in each case, a

remainder, but when divided
by 7leaves noremainder : -
121 b) 181

241 Q) 301

Two numbers are respectively
20% and 50% more than the
third number. What % is the
first number of the:second ?
40% " b)) B50%

70% d  80%

The average of 5 consecutive
numbers is 16. The highest of

thesenumbersis:
21 b 20
19 - d 18

A, B, Ctogether earﬁ Rs. 1450

and spend 60%, 65% and 70%
of their salaries respectively.
Iftheir savings are 14:21: 15,

then the salaryof Bis: -
Rs. 750 b) Rs.500
Rs.350 d Rs.600

)
)
)

1)

)
H)

13)

)
H)

Yu)

)

)

ys)

)
H)

ﬁ‘éwmfa‘tn”uﬁru?aa"._ﬁns,wmz?zs

w5 =fo R M3 Faygz s9a 3 -
225 ®) 450
900 ®) 3600

€7 By Fufor, ARG RIS 2,3, 5,5
W3 6 TH IAAT AR I IS TAH A
&t gafe IR, uS3 7SS 7 78 9
AFARI AT &I
121 €) 181
241 ¥ 3801

2 FAuforet St Aufr 3 JEHES 20%
»F 50% T T5| wafE A e
At erafd %J?
40 % )
70 % ®)

50 %.
80 %

5 gEnTx Aufret & WiAg 16 31 RTa!

ﬂ%rﬁs{'eiéfgawﬁﬁﬁ\_ré:- ,
21 H) ‘_20
19 g 18

g, s, A fea'd HEA 1650 3. aHER
Iw 3 OI5 Tt It T FEHed
60 %, 65 % ™3 70 % HJ8 aIe IS |
Aad Gant @ 59T € WU 14121015

J S IeATI -
7509, € 5009
350 9. g 6009

—
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A

Q6)

c)

Q7.

a)

b

c) -

Q8)

Rs. 180 is to be divided among
66 men and women. The sums
of men's share and women's
share are in the ratio 5 : 4, but
their individual sharesare 3:2

_ respectively. The number of

menare:-
26 ) b) 30
40 d) 10

An electric pump can fill a
tank in 3 hours. Because of a
leak in the tank, it took 3 %
hours to fill the tank. The leak
can drain all the water of the
tankin:-

21hours

6% hours

10 % hours

15hours

A man sold two steel chairs for'

Rs. 500 each. Onone, he gains
20% and on other, he loses

12%. How much does he gains’

or loses in the whole
transaction ?

1.5%gain b)  1.5%loss
5/3%gain d)  5/3%loss

At simple interest, what sum

amounts to Rs. 1120 in 4 years-"

andtoRs. 12001in 5 years ?
Rs.800 b) Rs.900
Rs.1000 d)  Rs.750

Ye)

™)

| =

W)

)
=)
A)
<)

yg)

 »

H)

)

180 g. 66 wa-ihf' W3 aT ey 2
2 TS5 | ekt iggi 2
e e g s Wil g a2
Sy SATEHET) 2@ ey
Eﬂﬂhﬁﬁfaﬁsﬁé:- '

26 ) 0

40 8

' wfred el Suichas fitg 2

B II AR | & W IR IT gz,
| dAgTIs ey IR sT g

AS U 5 Ed A e e

e

6 4% wefw =fy

10 15 Wefi Tfa

15 wef =g

rﬁMSéﬁﬁ'msoo- '
- 500 g. v S0 B EaR I ond

20% B IHTI S g IBAE 12 %
Fe I8 Yy RS efe R fe wrg
TSIE?

15%%s =)
53%%8

13 %H‘?ﬁ_
BiYe T&t

AO96 THS, & A &N 20 g. w3
5 st =T 1200 7. % 73 Iy afst
PR ?

800g. =)
1000 g. &)

90001 7.
50T
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Q10

The simple interest on a sum of
money for 3 years is Rs. 240
and the compound interest on

" the sum at same rate for 2

12
)

Q11)

a)
c)

Q12)

a)
c)

Q13)

years is Rs. 170.
percent per annumis: -
16% b)  12%%
81/3% d 8%

A long distance is covered by
Hem in 42 minutes. He covers
2/3 of it at 4 kms an hour and
the remaining at 5 kms an
hour. Findthetotal distance:-
2km b)  2.4km

3km d . 38.6km

If a clock strikes 12 in 33
seconds, it will strike 6 in how

many seconds?
33/2 b) 15
12 Cd, § 22,

The radius of a sphere is
increased by 50%, the increase
in the surface area of sphereis:
100%
150%

b)
d

125%
144 %

A copper sphere of radius 3 cm
isbeaten and drawn into a wire
of diameter 0.2 cm. Thelength
ofthe wireis:-
9m b)
36m d)

18m
24m

The rate |

410)

)
i)

)
H)

yiz) .

A)
Yy13)

™)
H)

iu)

™)
H)

: 2ai’.ﬁf.

3 G B8 Us € §8% 994 3 FOSo
2WH 250 7. I3 2 ABt 3R G Eg
3B JaH 3 BT TrH 170 9.
A @ A eI AT I -

16.% 9 12%%
81/3% € 8%

IH 12 Hise e Fa 55 gl Fage
31 €T Fawe =foy aim. 3 fomet
2/3 g IFTT I Tl gt feque
:? 5. IFTeT AT R UT

2.4 .
3.6 .

)

3 af,;-‘rr. <)

Aag g deg W=t 33 Aafer =g 12

WE O foaR mafcrefa s we
T '

33/2 9 15

12 " 22
FaMBodgsoy g I 8
Bfoga=foeaa:-.

100 % "9 125%

150 % T) 144 %

IR BRI A G020,
&P @ R 39 o9 Febr w3

sfgfraerdised s dd:-
9. =) 184 <
36 2t ) 24 Mt
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4

) Q16) Radha could save 10% of her

Q15) Find the greatest number that
will divide 43, 91 and 183 so as
to leave the same remainder in
eachcase:*

a) 4 b) 7
c) 9 _ . d) 13

income. But two years ‘later
when her income is increased
by 2%, she could save the same
amount only as before. By how
much percent has her income

increased : - 1,
a) 22%% b) 223%
c) 22% o d) 24%

Q17) Aschool with 600 students, the
average age of girls is 11 years
and that of boys is 12 years. If
the average age of school is 11
years and 9 months, then
number of boys in the school is :

a) 450 b) 150

© 250 .d) 350

Q18) Parthasarthy owns a plot
worth Rs. 1,00,000/-. He sellsit
to Shiva at a profit of 15%.
After sometimes, Shiva sells it
back to Parthasarthy at a loss
of 15%, then Parthasarthy: -

a)  losesRs. 17,250/

b)  losesRs. 15,000/

“c)  gainsRs. 15,000/

d  gainsRs. 17,250/

Yis) f@‘ﬁmﬁﬁmﬂh’ﬁ‘r@ﬁ@, 91

w3 183 3 foR 39T IU R gfgg =t
S i et 99 -
) 4 =) 7
A9 T 13

Yi6) T WU WTHES! T 10 % W Faet
EIRICE R oo IR T T S
=M 2 % = Afeor, 3 Q9 vafist el
JaH ot EIE‘..FIEKE'T W Ot nmyedt

e afd ygFias e Ifime ..

1

W) 222% ®)  224%
) 22% T . 249

yiz) sooaf%ﬁsraa?nﬁe@%an@ggfg,
st & A3 8H9 11 mm W
sl S A @49 12 7 ) e
S TS 4T 11 B WS 9113 3,

3 g <fo Baf & Hfrd -
") 450 °9) 150 ‘
A) 250 | 350

Yi8) USEATE A5 1,00,000/- g. w fiF
use I QI RAE 15 % e 3w g
. 2YE I FT AN IR, Afer 159, ot 3
HZ YIEASE 3 W wfr I T
UgEAIEH g -

) 17,250/- TS FEI

‘") 15,000/- TETARI

) 15,000/- BT
€  17,250/-®Igerd
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Q19) An alloy of Copper and Nickel

Copper. How much Copper
should be added to alloy so

thatﬂpercentage of Copper is

~weighs 50 g. It contains 80%,

19)

)
A)

420)

)

y21)

™)
)

y22)

™)

increasedto90: -
a) 50g b) 60g
¢ 30g d .40g
Q20) Aman completes 5/8 of a job in
10 days. At this rate, how
many more days will it take
him to finish the job ?
a) 5 by - 7
0 6 d 7%
Q21) If 6 men and 8 boys can do a
piece of work in 10 days, while
26 men and 48 boys can do the |
same in 2 days, the time taken |-
by 15 men and 20 boys in doing
the same type of work will be : -
a) Tdays b)  6days
¢ 5days d)  4days
'Q22) One of the two buses
completes a journey of 300 km
in 7 % hours and the other a
journey of 450 km in 9 hours.
The ratio of their speedis: -
a) 3:4 b)  4:3
¢ 4:5

O 89 M s

)

I 3 S f Y Hitez o3 =
msoala*.élfzn_ef?ao%a*ﬂ*m
WSS a3 =fs Aty 3w Mo
e T 3 3 39 & ygsgr
TR0 AR - ‘

50 I@".
30 T

60 .
409"

=)
©)

It 10 Sfst efo g aH e 5/8
TAYTITEY | R 3, Higyw
S5 g IS efs Bar=adt?

5 w7

6 - I £

6 MEHI W3 8 BFF 10 efst efg sy o
B9 91 39 o 9w, mEaf 26 et
"2 43 s GRS g 2 efst efgag
Haéa?s,1smmw§zomﬁ)ﬁ§'
87 YT € 91 &' a5 =fo sarfer
A 2T -

TefstEE W)
sefsiefg  ®)

6 TfEt =fg
4 ofet =fg

é#eﬁéﬁ%‘aﬁnooaﬂﬁ.ém-
g7 % v ofg yor dat I w3 gt
450 0. A TIT F 9 webr s yar
FIE I G & It I 3

814 Tl om) o4:3
g 8:9

-~
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Q23) A motorboat whose speed is 15 | Y23) FF Weode At a5t 15 A
km/h in still water goes 30 km YEIruerd, set e safd w2y 30
downstream and come back in a anf. It ¥ A I w3 4 w2 30
total of 4 hour 30 minutes. . The Hfset =g Tur e I Yoo &
speed of streamis : - B kR '
2 4km/h RPE O RCE
b)  5km/h ,
¢  6km/h S, B
d 8km/h ) 630 yFE we
T  salitysSiver
Q24) Given that O is an angle . \ i
: between 180° and 270°. What is " ;zi:f;i;gmo = ze
the value of ‘O’ if it satisfies. P Slners T T Bl
equation 3cos*0—sin’ 0 =1, ~sin'0 =17 HgHe 9w I 3t fwe
_ HEaHtd|
a) 180 D 220 A 180 W B
0 9295° d) © o 940° H) 225° ) 240°
Q25) An HR Company employs 4800 . : “ .
people out of Which 45 percent e ;ﬁ:‘é’#ﬁ“ﬁ aujﬁeﬁf R ﬂarsm
are males and 60 percent of , wg?s s HS el E. ,E
males are either 25 years or “ : _ e Gomwa:zs
older. How many males are ST I5 H Sgaa In '_, oS et
employed in HR company, who =fe aﬁ% A et s ST T, A
are younger than 25 years : - 25 3BT -
a) 864 i -
b). 2160 S0
o 1296 ML °, 1308
-d) 2640 =
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REASONING

Directiops ( Q. 26 — 30 ) : In each
question below are given two
statements followed by two

. conclusions numbered I and II. You

have to take the two given

| statements to be true even if they

seem to be at variance with
commonly known facts and then
decide which of the given
conclusions logically follows from
the two given statements,
disregarding commonly known

facts. Giveyour answer as follows: -

(a)  ifonlyconclusionI follows
(b)  ifonlyconclusion IT follows
(c)  ifneither Inor I follows
(@ ifbothI and IT follow

Q26) Statements:
All roads are poles.
No pole is a house.
Conclusions:
L Someroads are houses.
II.  Somehouses are poles.

Q27) Statements:
All coats are bags.
Some bags are toys.
Conclusions:

1. Some bags are toys.

IT.  Sometoys are coats.

39

BI9SH (YS. 26 - 30) : 35" ©f3 I3 Y@ws
29 86 3 ORI wmie Rufret 1 w3 2 2fg
ewnfeef3sRas| oA deaderIm
& S & B 2T I G o afeg T
36 YSF1E I w3 T v Atz FH 3 Ofrs
=f3 wlst &9 afo? 9o Rar af efy g
Afefi &S afug I9aa gu B ef3 ae @
TES' T WEAIT FITT I | wuT €39 o
Ygagefe:

() | eI AfeT I wEHIE I S |

(8) AIIITTHIC 2WGAIE AT |

() PRI F 313 O 2 WEHes Sgw
3

®) ASgIvI2RWERIETTRTS |-

Y26) -THA:
HIM A 48 95 |

YT U FF |

Afe:

I Y HIL WI TS|

II. IFWIHITS|

W7) FES:
YA e8I
FEEBHfFE o5 |
Afe:

L I ABHES TS| W

IL.. ggufdzacas)
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Q28)

IL.

Q29)

1I.

Q30)

Statements:
Onlycatsareanimals.

No historiap isananimal.
Conclusions:

Some cats are not historians,
Some historians are cats. '

Statements:

A graduateisaman.
The thiefis a graduate.
Conclusions :

This thiefis a man.
Some men are thieves,

Statements :
Some pearls are gems.

- Some gems are ornaments.

I
II.

Conclusions :
Some gems are pearls.
Some ornaments are gems

Directions ( Q. 81 ~ 34) : In these
questions, pick the odd thing out.

Q31)

| Q32)

33)

yJ28) 9HG:

s g St aaegTs|
. A REfTwaI R Aeee st
1 et Esforaa st o5 |
. swgfsforsasfémigs)
Y29) =E&: _
. ReiRgiefawwid
S ffaIRgEed|
Afe: ‘
T. TIFIreRd
I ggreidegRos
Y30) wEw:
FNStISs TR TS 7
IFIFSITRE TR T5|
Afe: ‘
L ECEEGY BRG]
II.  3IVIERIIsRTs!

3@@?(1[31-3;0)1‘@36*1@3*:%,%&!&?

| THgzuER
(a) Turtle (b) l Lamb @) g (|) m
(¢ Bitch (d) Farrow ' @ gF (= _ﬂEFET?B
(@ Cap (b) Turban W2) ) & R
(c) Helmet '(d) Veil ‘(T-T) S ‘ CE) (i
Y33) ) swyE () e
23.)) Pear (b) Tore ‘ g s A :

= 0
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Q34)

Q35)

B)
o)
D)

a)
c

Q36)
B
0
D)

c)

(a) Kiwi () Eagle 3u)
(©) Penguin (d) -Ostrich
Directions ( Q. 85 —39) : - In
each question, the main
statement is followed by four
sentences. = Select the pair of
sentences that relate logically
to the given statement. '
Either Sita is sick or she is
Y3s)

careless - _
Sita is not sick ™)
Sitais notcareless 5)
Sita is sick H)
Sita is careless T -
AB b) AD | -
BA d DA '

. ‘ )
Ram gets a swollen .nose 436)
whenever he eats hamburgers
Ram gets a swollen nose )
Ram does not eat hamburgers )
Ram does not get swollennose H)
Ram eats hamburgers <)
AB b) DC )
AC d BC il

| SfRE (g, 35 - 39) : S \@FS e

s ¥ e g9 T Sl AR O

- HG &% 399 gy &% HEd SN

on @& =@ "W
@ N @) FEEHET

st @ oy 33 & v R, ef3

2

ARz gHIdF eI suSTII -
Az e st

Azrsuged 59ty

Azrda d
Az sugeTad
W

§) ME

=R g =
IH T2 & Jagee e I, GRS 6
HFARS S

FTHASIFAAR I

TH TSI &t T

IHA SIS FAS

IH TEEP TS

Wy ) A,
MH g €A
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B T

-y
Tt

Q37)

A)
B
)

D)

a)
V)

Q38)
A)
B)
)
D)
a)

c)

Q39)

B)
(o))
D)

A)

)

Either the employees ‘have no
confidence in Managgment of
they are hostile by nature: -
They are hostile bynature
They are not hostile by nature
They have confidence- in
Management

They have no confidence in
Management

BA b) CB

DA d BD

Either Ramisill or hedrunk: -
Ramisill :
Ramisnotill

Ramisdrunk
Ramisnotdrunk

AB b) DA

AC d €D

Whenever Rajeev uses the |
internet, he dreams about
spiders: -

Rajeev does not dream about
spiders

Rajeevusesinternet
Rajeevdreams about spiders
Rajeev did not use the internet
AD b) DC

CB d DA

Y37)

)
=)
)

)
H)
138)
)
)
H)

T)
™)

H)
Y39)
™)
H)
H)

®)

)
H)

A 3t S9HTd T yIehms =g
=T &9t 3 7 §a g3 3 doyTE
T5- .

SIEsH Iy T5
S9smiI Iy adias

8%t TrygTs el efien 3

8 T YIS Tiu = fHeH &t

o %)  AY
e g ue

3 IH 91T I A OFB How =
IRI:-

THEHII

I ESD

IHS AETFUIFt I8
FHIFTE SO AR IS D

Wy g e

™A <) R

e @ Ivile fFegde o Qutiaiagera),
O M T FUd MR T -

g5

e fegde o guugraaerd
Ive 3 Hegde v Quumr adt s

e g €"
Y g e
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Q4D) If the day after tomorrow is

Sunday, ‘what day was
tomorrow's day before
yesterday ?

a) . Friday b) = Thursday

¢) -Monday d  Tuesday

Q41) Jone walked 8 Km West and
' turned right and walked 3 km.
Then again he turned right
and walked 12 km. How farhe

is from starting point : -
a) Tkm b) 8km

¢  4km d Hkm
Q42) Suresh is 7 ranks ahead of
- Ashok in the class of 39
students. If Ashok's rank is
17* from the last, what is

- Sureshrankfromthestart? |

a 16 b 23"
o 24 4 15"

Q43) Which of the following is a

protein fibre : -
a) Nylon b)-
o  Polyester d)

‘Silk
Cotton =

Yuo) TS IR MIT I, 3 U T S

efsdtd?

) Haged . H)

) mHEg Q)

| 1) Ao e 25 8 AR, T AR A

HZ 3 3 ahHit. I8 ef g9 €9
Ha uR yEir w3 12 Sl S8 €9

F e aied 33
Wy 7abd. W sahl
5 af .

H) 4 . <)

Y2) 39 =fefywgsmi & I3A =g B,
w3 7 TR T | AEI T T I
nrrazﬁé‘weréafﬂéﬂeréaﬂai
aﬁ'é‘?

w) 16 ¥ 23F

15 @

H) 24 <)

W) feoe el afsapdseduads
W)  AESS °9) 98
H) uysfaes <) il

~
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Q44)

a)
c)

Q45)
B)
D)

a)
b)

o) -

d)

Six girls are standing in a
circle facing to centre. Rekha
1s in between Bindu and
Mumtaz - Jessca is between
Vijit and Nirmala. Bindu is to
the left of Vijit. Who is to the
left of Mumtaz ?
Rekha b)

Vijit d)

Nirmala
‘ Bindu

Study the following statement:
Allcolours are pleasant

Some colour are pleasant
Nocolour is pleasant

Some colours are not pleasant.
Given the statement D is true,
what can be definitely be
concluded ?

AandBaretrue

Ais false

Bis false

Cis true

Directions (Q. 46— 48) :Ina cycling
race, five participants from various
nations take part. Track I is extreme

left and track 5 is extreme right. The

following conditions exists : -

A)

B)

C)

The Napalese and Englishmen
are not cycling adjacent to one
another

The Iraqi is not in' one of
extreme tracks.

The Chinese is to the left of
Indian.

Ry

)
H)

us)
")
)
)
<)

. - H)

<o uFd I5 | 3w, wfg w3 s
R 2o I | AFer, 2 oD sfove 2@
eTg | Sz usun
HHHSHIURIEI?

SfaHer

gfg

EEIES g)

It eI TEs s
AFIdaedmrgeas

- e A I st ger

FZdar e ad g

¥ 58 afeme < e, ety 39 3 e

)
)
A)
g)

)

o)
H)

o

e T AEerd?

™3 g At TS

KEEG]

q9983d

HAADI :
BT ({46 - 48) : ot &t i &g
=5, fs SRt 2 U Y@ et oy 32
TS| HII 1 T HF YR IS waars
TS AR YA I | g mafd @3us
g s -

BUrE W WS ' o @ A3 s
GEICEC O

gt afm @ o wga s s J)

st gz eHIuR
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Q46) If the Napalese is track 4 and
Indian is in Track 8, then

Englishmen could bein:
a) Trackl
b)  Track?2

¢)  Tracklor?2
d) None of above

If the Iraqi is to the left of

Chinese then Iraqi could bein:
a) . Track 2only
b)  Track 3only
¢  Track2or3
d  Noneofabove

If Napalese is in Track 3, the

Q48)
Chinese in Track 1, then India
couldbein :- :
a) Track4
b)  Track?2

¢)  Track2or4
d)  Noneofabove

Directions ( Q. 49— 50) : In each of
the following questions one number is
wrong in the series. Find out the
wrong number in each case.

Q49) 2,9,22,51,107, 219, 443

a) 219 b) 51
¢ 107 d 22
Q50) 5,13,17,25,29, 36, 41
a) 13 b) 36
o 17 d 29.

Yu6) WG AUE wgarL I w3 I g 3

2T, IR IFIT I -
") HIa 3
) HId123

A  HEdiw23
g feost=fRaMIsd 5

yur) Aag gt 9t @ Yy d 3 gl
IATTI:-

) AT HTA23

¥  ABHEI3I

H) HIE27T33

9 fastefoamIsd

Yu8)  HaT BUE HEE 3 3B T
‘ 33,3t TN IR I -

™) HIAILT

") HI923.

W)  HI§2AtL3
T  feosteftaMIadt
BigeH (Y 49 - 50) : I =f3 T3

YEHE =fo g 2fe e Aufor arss &
| TR TITI A yzv ey |

Yu9) 2,9,22,51,107,219, 443

) 219 ¥ 51

A} 107 - g 22

Yys0) 5,13,17, 25,29, 36,41

") 13 € 36

") 17 T 29
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GENERAL AWARENESS

Q51) Siddhartha attained his
'enlightment' at

a) Banaras b)  Kushinagar
¢) ' Sarmath d) Gaya
| Q52) Change of seasons and their
i formation is caused by this of
theearth:-
a)  Gravity

b)  Rotation

c) Revolution’

d)  Inclination of the axis of the
earth to p]ane of the orbit

Q53) When was the last census

made ?
a) 2011 b) 2001
¢ 2005 d 2010

Q54) The politicians are demandmg
that any law that is likely to be
challenged be placedinthe: -

a)  Sixth Schedule

b)  Seventh Schedule

c) Eighth Schedule

d) NinthSchedule

Q55) Which of the following is not a
State of India ?

a) Jharkhand

b)  Chattisgarh

¢)  Uttarnchal

d)  Telangana

Q56) Konkan railway reduced the
- Mumbai- Kochi distance by :
) 12 b)  1/4

o) /5 - d) U3

Wﬁf&-ar-a’r

Ys1) Qﬁmﬁwmmlﬁﬁ

") Ym'aﬁ g9  giedg

A) AI5H €) arfr

ys2) WMt w3 Gunt & gueefd T
TSR RATgs I gE -

W) - FgF

9 W

H) gag sarge

€ 9EIfvye e gl &b ugst & gdter
gam

Ys3) ufedtvsasae I8 /e

n) ' 2011 €) 2001

) 2005 . ¥ 2010

Ysi) \Wma*étwéafwﬁ'éﬂél

o, AHE ga st ef2 A7E o Aoea

é’e‘%ﬁﬂ'ﬂ@gﬁreﬁf RCEEE: Ed

W) 2EaEd

g)  ASSSHO

H)  WaehwgEet

|  AdwgEer

Ys5) kas e gafozr gz wansda?

) FIH3 &

q9) g3meEe

) QS’E’E’&‘

=) 3T

Y56) ﬂm?ﬁﬁmaﬁée@aaﬁ?
werelgrd -

) 1/2 )] 1/4

Hé 1/5 €) 1/3
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%57)

Q60)

d)

"Harry Potter'isa:

king

nameof an airline

famaus character of a novel
famous place

Parvas1 Bhartiya Dlvas falls

on:
Jan.9 b)
d) .

June 11

Which one of the following
diseases is caused due to
presence of excess of Arsenicin
water: -

Alzeimer's disease

Skin cancer

Parkinson's disease
Indigestion -

Feb. 18
QOct. 10

All sources of water such as
oceans, lakes,
underground water together
constitutes:-

Hydrosphere

Atmosphere

Lithosphere

Biosphere

Smog is an old combination of
smoke and fog

smoke and mist

mist and fog

smoke, fog and mist

Diarrhoeaiscaused by: -
bacteria and protozoa
viruses and fungi
viruses only

bacteria and viruses

rivers and:

Ys7)
)

=)

A)
<)

Yss)

)
)

Y59)

)
)
)
)

160)

)
o)
H)
Q)

Ye1)

 9TERAE

A Neg I

I .
Fagedaudte s

FMmese @Rfaafsey
YIRTOAEs

yeert ggFt efengerd -

W) 18gIEia
Ng6g ®) 10wEgEsg
G )

WBAEHT

KT T ang

ygahE 91

seoit 7

ud @ A FR3 AR af mies, g
s i TS A RS WIS &

. IfhrggRTs -

TEIIAE

i

AES HES

ATHITS

T T e Ug T HiRgz 3 -

) Uofa (ER3) affads gerd -
JITEWI YIS



www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

LITETS

Q63) In which of the following cases
the Supreme Court of India
gave verdicts which have direct
bearing on the Centre — State
relations ?

Keshavananda Bharati Case

b)) S.R.BommaiCase
c)  Vishalia Case
d)  IndiraSawhney Case

The Chief Election

Commissioner of India holds

. office for a period of :-

a)  sixyears .

b)  for six years or the age of 65
years, whicheveris earlier

¢ during the pleas eve of
President ’ '

d)  for five years or the age of 60

.years whicheveris earlier

Q64)

Q65) Which one of the following is
not a land locked country ?

a)  Bhutan
b)  Afghanistan
¢)  Nepal

d)  Thailand -

Fd

S Puze 17 18

Ye3) fugs' =9 afuz sty =fo saad
GO wewz 3 vAfd ans =l
Alst &% de9-97 € AT 3 Ay
hmaﬁat‘zrfa‘f?
W) dneseITRan
9) AT S IR

‘A).  =fosfran

® Regmodan

Moh 33 g o s 5 v
Tgs ITT I -

W) WS -

H) WS s8R 65 AE & i 95, A
YIfEt

) araaaufrér}famas#
®) A AE EE A 60 HE S OHI TR, R

Fyafginrae
Yes) . feast =S afog 20 mits am iy
- st |
w)  gEw ‘
€9) . YWEIrsHEs
" 3us
T mhdz
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BASIC COMPUTER - gafr<t Sufeg
QGG) Scan algorithm is associated Ye6) R WSISEH I AH-sfgoas
- with scheduling of : - , s gEfr e d -
I S P
2mory reques: s . s R .
' ©)  Printer -
d)  Harddisk : ) yEes
: _ . : | ® TesfE
Q67) AnASClIcodeisa:- " | yer) fFaAsSCHEzd:-
a)  sixteenbitcode - ‘ w) hegefeag
b). fourbit -code : ) Bfa‘afa‘é'ts
¢) . sevenbitcode ; 2x .
i A) HIASfeaw
d  twelvebitcode ,
. ® . "oEfeds
Q68) SAPisa:- - | yes) sAPI:
a)  software for quality testing w) I e SH Heedng
b) ERP solution % dwelds
¢)  qualitystandard m gvshihiea

(.;1) internet browser - i -
Q69) FTPisa/an:- . Y69) FTPI:-

a)  Usenetnews group ™ grdemrEE e

b)  InternetRelay Chat facility 9 fessremasET

o) method for sending and | o St 377z 3 Bewde 3 1
¢ retrieving files from the .
FI5 T

‘ .Internet
d)  JavaApplet ¥ dense

Q70) Extension .jpg is used for | 470) Extension .jpg § e 995 FI5
storinga/an:- SE QURIT ST AE Y -
a)  textfile W)  IACTEE

b)  hypertextfile 9 TdhEdaReTds o
¢)  graphicsfile H)  d@elmeEds

d)_ MS-Excel sheet )
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NL

,VC'}'I

J,b)

Q71)

a)
b)
c)
d -

Q72)

a)
b)
c)
d)

Q73)
a)
b)

J
Q

Q74)
a)
b)

c)
d)

Q75)
a)

©)
d)

A process with 32 bit address
linecansupport:-

2" memory addresses

2% 1 memory addresses

2%+ 1 memory addresses -
any number of memory
addresses

In OSI network architecture,
the routingis performed at: -
Physicallayer

Network layer

Datalink layer

Application layer

HTTP stands for: -

Hyper Transfer Text Protocol
Hyperlink Text Transfer
Protocol '

Hyper Text Transfer Protocol
Hybrid Text Transfer Program

Microsoft Disk Operating
System (MS —DOS) supports : -
Multiprogramming

Time sharing

Multiuser

None of these

In UNIX operating systefn,
user directly interacts with : -

shell
kernel
hardware
all of these

yr)

)
=)
A)
T)

y72)

™)
H)
H)
<)
yr3) -
)
H)
H)
<)

Yru)

i

T)
)
)

y7s)

™)
H) -

| H)

Q)

32 gfe yzr Iy =@ ygafafnr Ifer
AHI HS S5 Aaet o -

PRI KT S

2% 13

2%+ 1 At u3

Ffet S RufrefagmEtiuz

OSI dc=aa wege =fg, geforafi 3
SR - ' '
Sfiasdng

e dng

 Fersfasng

HTTPIfAe AUz gu -

TEIII3 STAE TIRII RITH
Microsoft Disk Operating System
(MS—DOS)ETFHEVHHE‘E?S&GE'E‘T:-
prroraticricotic

T EniglaT

HEdgRT ‘
foeost=fg ad &<t

UNIX RE86 Yg=st efg, QuteEasT
RO I &% Auga Aeuf3 agerd -
S

EELT)

gIFING

A
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ENGLISH

Directioh_s (Q:76-80): choose the
exact meaning of the idioms /
phrases.

' - Q76) Tobell thecat

a)  Totakeleadindanger
b)  Totiebell tocat's neck
c) Tobe alert of the enemy
d)  Tomakenoise

Q77) Toflyoffthe handle

a) . Tobreaksomething

b)  Tobeindifferent

¢ Toactfoolishly

d)  To get into a rage and loose
self-control

Q78) Fairand square
a) Successful
b)  Honest means

¢ Honest

d  Worthy

Q79) Tocutasorry figure
a)  Anominal head

b)  Tofighttoa finish
&  Toberidiculed

d)  Tostruggle

CEED

Q80) Flesh and blood
a)  Humannature
b)  Warning

o  Inlife

d)  Atthetopspeed

Directions ( Q. 81 — 85 ) : Cheose the
appropriate preposition to fill

the blank space

Q81) Agood Judge never gropes... ..
...... the conclusion.

a)  to b) at

¢ on d) for

Q82) Letthisbeanexample.......
.... thetrouble-makers.

a) for b)  about

¢  against d to

Q83) lam angry withhim.........

. hiscarelessness.
a)  at b) in
. ¢)  for d) of
Q84) Keepclear........... wicked
boys.
a) of b)  from
¢ out - d  with
Q85) Naresh hasnocontrol........
. his temper. '
‘a)  in b) over
c) at - d afty,



www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

-

Q86)

The sentence 'Many Indians
have settled abroad in recent
years', hasa:-

Present perfect tense

Simple past tense

Past perfect tense

Future tense -

The sentence 'However they
had already been married
outside the village',hasa:-
Present perfect tense

Simple past tense

Past perfect tense

Future tense

The sentence 'T am going to be a
teacher when I grow up', hasa:

Present tense
Pasttense
Future tense
Past perfect tense

The sentence 'In 2004, a
disease destroyed the crops in
onevillage',hasa :-

Present perfect tense

Simple past tense

Past perfect tense

Future tense

The sentence 'Why are ybu.

making a noise? hasa:-
Present perfect tense
Present continuous tense
Simple present tense
Simple pasttense

Directions (Q. 91—93): Choose
the word opposite in meaning
to the onein capitals.

)
d)

91)
a
b)

%92)
¢

Q93)

.a)

o

IGNORE

oblivious

disregard

reject

acknowledge
ASSEMBLE

flock b scatter
group  d hoard
TRAGIC:

light b)  funny
humorous d)  comic

Directions ( Q. 94 — 95 ) : Select the

Q94)
a)
b)

c)
d)

Q95)
a)
b)
c)

d)

pair of words which arerelated
to the same way as the
capitalized words are related

toeachother.

POETRY:RHYME
Chain: Table

Clothes : Paper
Newspaper: Reading
Mystery : Suspense

BODY:HAND

Pin : Nail

Flower: Thorn
Automobile : Wheel
Bottle: Water

Directions (Q. 96~ 100) : Read
the passage carefully and
choose the best answer to each
question out of the four
alternatives.
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'PASSAGE

Primitive man was probably |
more concerned with fire as a.
source of warmth and as a °

means of cooking food than as
a source of light. Before he

- discovered less laborious ways

of making fire, he had to

‘preserve it, and whenever he

went on a journey he carried a
firebrand with him. . His
discovery that the firebrand,
from which the torch may very
well have developed, could be
used by illumination was
probably incidental to the
primary purpose:of preserving
aflame. )

Lamps, too, probably
developed by accident. Early
man may have had his first
conception of a lamp while
watching a twig or fibre
burning in the molten fat
dropped from a roasting
carcass. Allhe hadtodowasto
fashion a vessel to contain fat
and float a lighted reed in it.
Such lamps, which were made
of hallowed stores or sea-
shells, have persisted in
identical form up to quite
recent times. ‘
Primitive man's most
important use for firewas: -

to cook food

to provide warmth

to provide light

to provide warmth and light

Q97)

a)
b)
c)
D

‘VQ98)

a)
b)
c)
d

Q99)

a)
b)
c)
d)

The firebrand wasused to -

providelight

scare animals

save labour o
prevent accidents

Lamps probably developed .
through mere : -

planning
chance

- fate

hazard

By 'Primary' the author
means: -

Primitive
Elementary
Essential
Fundamental -

QlOO) Early lamps were madeby :-

a)
b)
c)

d

~ letting areed soak the fat

floating a reed in the sea-shell
using a reed as a wick in the
fat - ’

putting the fat in a snell and

lightingit

—GE-
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31 PPUDG il Yol Q’)b
S.No. [Answers |s.No. Answers  |S.No. Answers |S.No. Answers
1 c~ , |26 cC - |Is1 D —~ |78 A —~
2 D" sl |a— Is C— . |77 D —.
3 D~ -8 .Ja —. |53 A —, |78 €
a. D" _ |29 D~ |sa D~ |7e C =
_5.__)0/ 0 o lss  |p— Jao A -
6.0 {8 i c ~— |[s6 D_—~ |81 b~
e D 57 C — ~|g2 D —
§ g B 53 A - - |sa 6
9 B 59 B— a4 AT
B 60 A _— . (85 B — "~
D 61 A —_ |86 A
B 62 D — |87 c —
63 B — |38 g =
64 B — |9 B —
65 D _—.|90 B
66 D .~ |o1 D — ~
67 cC . |o2 B~
68 B -~ |93 D -
, 69 C - |og D
~ | C — -~ lgs C -
D A — _ |og A —
A~ In B 97 A,
23 B~ . |48 C — |73 C - {98 B~
24 C . |ag D — |74 D —. |[99 c -
25 A _~ |so B~ - |75 A —. |00 c —
/.
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